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Discussions
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Reading Text

‘At S22 2Ye SF

‘True co-existence of human-beings and animals’

st=& Hol= 2HO0|E O|Al= e & &+ Y&LIT
We can hardly see the tiger anymore, a representative animal of Korea.

2|eoltt= O|F2 = 0[|Z Of4 AU7| WE Y LT,
It is because people caught (=killed) tigers with the reason that tigers are dangerous.

SZO|FE 2 ot 2t MA[Ol= B2 s250] & 217(0 23 AL C.
Lots of animals as well as tigers are in danger of extinction.

HE0| glof %7 T= Y LICt.

—

1 0|Fe A=st AA Ve 2 SE2S0| 4+ U= 2
for the animals have disappeared due to

The reason is that the living environments fo
excessive development of nature.

LESH AR, V1, 0|8 52 QoM R 2 o S| HEYLCH

Also people have caught and killed animals without restriction to get food, skins, and
beauty products.

2|20l st=0i|M= S R|e] =7} BIOFAH M 4|7t =10 S LT
Recently, the increasing number of wild boars has been causing problems in Korea.
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SUEi 2|7t S710f TISHE =10 ALEhE @I@ot7| M=20 2 wiotct Z0[7| A|2SHE LTt
People began to kill wild boars whenever they are seen because they damage
farms and threat people.

SHA|2H O|E A SR 2 S0|Ct EH S 0|2 Sl = 2 B AYLICH
However, wild boars might extinct soon like tigers if people keep killing the
boars thoughtlessly.

AtEtar £20| AW B2 2N LAUNR?

What is the true co-existence of human-beings and animals?
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b At (human being) + -2H(marker(and))

s s=(animal) + -2|(possessive marker)

“true

: co-existence

F:_#g : Sk=r(Korea) + -2 (objective marker)

H5h= : CHESHCT (to represent) + -=(ending(relative clause; noun modifying))
S20|E : 20|(tiger) + -E(objective marker)

O|A|= : O]A|(know) + -=(marker(exclusion))

29| :hardly

= & UgUCH: 2(Eh(to see) + -2 &= Ql(EhH(modal aux.(can’t)) + -&UCHending
(declarative))

st Olf= : &5k} (to be dangerous) +-Ch(quotative(declarative)) + -=
(ending(relative clause; noun modifying)) + 0|7 (reason) + -Z(marker(because of))
Ok : much

-Q-7| 22U UCH: & (Th(to catch) + -7] WiZ0|(C}) (modal aux.(because)) + - LTt
(ending(declarative))

S 20|80t ot 2}t - S&0|(tiger) + -#£0F OtL|2t(idiom(as well as))

MIAIO= - MAl(world) + -Ofl(marker(in)) + -=(marker(exclusion))

U2 lots of

s=250|: (anlmal) + -=(plural) + -0l (subjective marker)

e -?|7|01| Z (extinction) + 2|7|(danger) + -Ofl(marker(in))

st A=Y 'if 215l L(CH (to be faced) + -&LICHending(declarative))
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a: that
0| 7<= : 0|F(reason) + -=(marker(exclusion))
ngF : MESHE (to exceed) + -L (ending(relative clause; noun modifying))
ZtA HErZ At JHEE(development of nature) + -Z(marker(because of))
A 4 QlE T AT (to live) + -4 U(CH(modal aux.(can)) + -=(ending(relative clause; noun
modifying))
3140 : & (environment) + -0|(complement marker)
HL7| W2 LIC - O R|(E)(to disappear) + -7| WZ0[(Ch) (modal aux.(because)) + -&
|-IEHendmg(declara‘uve))
£t also
Algk: food
= skin
0|2 : beauty
s2 oA : S(etc) + -2 2IsliAM (idiom(for))
SHE2 : without restriction
20t =-%-7| tf2UL|Ct : &0t Z0|(C}) (to catch and kill) + -%f-(pre-ending(past tense)) + -
7 [EH—-—OI( b (modal aux.(because)) + - & L|CHending(declarative))
2|20f| : 2|2 (recently) + -Oll(marker(on))
SR M : St (Korea) + -0|A (marker(in)) + -=(marker(exclusion))
Bzh 2| Q| : SlEh | (wild boars) + -2|(possessive marker)
27t £(number) + -7H(subjective marker)
OOFA A @ SLOFX|(T}) (to increase) + -O{A{(connective(because))
2X47t : 24|(problem) + -7t (complement marker)
|0 UELICEH: £)(T}) (to come) + -1 L (TH (modal aux.(be -ing)) + -&L{Ct
(ending(declarative))
BIEh 2|2} : Slef 2| (wild boars) + -7t(subjective marker)
=710 : s7t(farm) + -0l (marker(at))
Oj3HE 1 : OJ5HE F(ChH(to do harm) + -2 (connective: and)
AHEE : At (people) + -2 (objective marker)
Q| &5t7| W20 : IE3HCTH (to threat) + -7| W&0f|(connective: because)
2ol mjojct . 20](CH(to be seen) + -2 T{OICH connective: whenever)
Z0|7| A|2gH&L|CH: Z0|(C r)(to kill) + -7| A|25H(CH (modal aux.(to start something)) + -4
-(pre-ending(past tense)) + -&L|Ct(ending(declarative))
SHA|2F : however
O|Z A : like this
S22 : without restriction
Z0|Ct B8 : 20|CHto kill) + -OF E(CH (modal aux.(try to)) + -2 (connective: if)
S2H0|H 3 : S240|(tiger) + - & (marker(like)
S 2| = : Sl=f R | (wild boar) + -=(marker(exclusion))
2 :soon

TZE AYUCH: BSE/(Hh)(to extinct) + -2 A0[|(CH(modal aux.(future tense)) + -= LT}
(endlng(declaratlve))
A @ so

—

2oUNR? : what is?
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Comprehension
1. 0| 29| HMOoj= FAKLLTL?
1) et=ol 30| 2)Sli=fR|e BF 3) =52 BF [H:3]

2. MAel 3=50| BF 217[0f A8t Ol7= FAYLZF?
1) fIgst7l figo]  2) dp=gk At ViR WiZ20|l  3) s7toll T E 7| W20l [E 2]

3. &A= S=0ilM o 2A7t =L AS L7
1) OFdES=017| W20l 2) S0 W20 3) 2 +7F EOHL7| W20 (& : 3]

Conversation

4 )

225 74 20?2 OFYO|M A= F0FF ALZO| A= OS2 E A HFICH.
Jordan : Did you watch the news today? Puma living in the wild got caught as it
came down to the town where people live.

CiL @ 22 O UOo| At 47[= A Z0ot2. OFd 20| Mot H2 gLt B2, Jde2iM O
0= O{EA o R?

Danny : We see the similar incidents often these days. The food must be rare in the
wild. So what happened to the puma?

2G| & 2 U4

Jordan : Of course it got shot and killed.

CHL| © S CZ] 87t DOtM 2 {OIE 20|= A2 24| 2 A Zota.

Danny : Hmm--- | don’t think it is right to kill the puma that appeared only because it
was hungry.

2o D0 AYS BHE 25 9
O| CH=|H O] EA| 3f?

Jordan : Even if that’s the case, they couldn’t let the puma around that could have
attacked people. [Don’t you think so?] What if a person passing by got hurt?
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EHl—I s A DR 7O 20| G102 A AFS0] R2E5H 7HESH | f20|%0t=

Z0|= CHAl 20| HHHS AIZISHOF BF 24 24012

Danny - I know but it is because we indiscriminately develop [land] that the puma has
lost their habitat. We need to think of a more fundamental ways instead of killing
them.

2 Od 22T =940]| e 70 S0{0F QHABEA]

Jordan : That's true but it is safe to kill the puma in front of your eyes.

CiL] : =012 ¢ &|E B2 4 A= 4 22 LHO| YR EENK?

Danny : There should be some ways, better ways, to get them back [to the wild] than
killing them.

A\ 4
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Notes
Q2+ : today
F24 T news
2H01? : E(ChH (to watch) + -Qt-(pre-ending(past tense)) + -0{?(ending(interrogative)
OFAHO|| A = OF2H(wild) + -Ofl M (marker(in))
A= D &H(C}) (2 deleted)(to live) + -=(ending(relative clause; noun modifying)) -> At=
FOE2t - FOkHpuma) + -7Hsubjective marker)
AH2HO| : At (people) + -0 (subjective marker)
022 : 02 (town) + -2(marker(into))
QFM 1 2(CH) (to come) + -OkA (connective: because)
215

AL : &5]1(CH (to get caught) + -%-(pre-ending(past tense)) + -CH
(quotatlve(declaratlve) contracted form)

2= : these days
21 2 similar(like that)
0| : (incident) + -0|(subjective marker)
. often
d71= A 2ot 1 471(Eh(to happen) + -= 2 Z(Ch)(modal aux.(seems to)) + -0t
(ending(declarative))

Opell 2|0l : OFd(wild) + | (area) + -Ofl(marker(in))
0|7} : HO|(food) + -7t(subjective marker)
H2 : not much
GLE LR QH(CH (rare) + -Lt E(CH (modal aux(maybe)) + -Ot2 (ending(declarative))
J2HM :so
1 :that
FOt= : #0kpuma) + -=(marker(exclusion))
H{EA : how
HO{27? : =[(C}) (to happen) + -%4-(pre-ending(past tense)) + -0{27? (ending(interrogative))
&A3]| : of course
é E'z*-T’- : 2 2H(CH(to get shot) + -1 (connective: and then)

A-2| : Z(CH(to die) + -Ri-(pre-ending(past tense)) + -A|(ending(confirm)
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2| :only

BRZt DIbA : BEZF D (C} (hungry) + -OFA{(connective: because)

2 2(ChH(to come) + -L (ending(relative clause; noun modifying)/past)

FOFS : F0Hpuma) + -=(objective marker)

Z0|= A : 20|(Th(to kill) + -= Zi(make verb to noun) + -2(marker(exclusion))
ZA| %2 A 2ot 1 Z(Th(to right) + -A| 2(Ch (modal aux: don't) + -2 A Z(t}) (modal
aux. : seems to) + Ofg(endlng(declaratlve))

™0 even if

A At (people) + -S(objective marker)

34g & U= 1 3A5HH (to attack) + -2 &= A(CH(modal aux. : possible) + -=
(ending(relative clause; noun modifying))

% just

= e U0t F(Ch(to let) + -2 == Sl(Eh(modal aux.: can’t) + -&0t? (-A| %029
contracted form : tag question)

J12{Ct7t - if somebody do like that

Z : street

7+E : 7Hto pass by) + -H(pre-ending(past tense))

AH2H0] @ AtZf(people) + -0l (subjective marker)

Ctzx|™ : CFz|(C}) (to get hurt) + -@ (connective: if)

O|gA &l? : what if?

74 2 A8 | know but

FOE7} - F0Hpuma) + -7H(subjective marker)

A 220| 1 (ChH (2 deleted)(to live) + -2 (ending(relative clause; noun modifying)) + =
(palce) + O|(complement marker)

ORI A - QOA|(E}) (to disappear) + -+ Z4(contracted form: - Zd/expression(making

noun phrase: past tense)) + -2 (marker(exclusion))

A2HE0] : At2ZH(people) + -S(plural) + -O|(subjective marker)

22YSHA 228 5HC (indiscriminate) + -Al(ending(making adverb)
JHest7| W20[ &0t : ZHESHE (to develop) + -7| WiE0|(Cf) (modal aux.(because)) + -&
Ok(ending: you know that) + -2 (marker(polite))

Z0|&= CHAl - Z0](Ch(to kill) + -= CHAl(idiom(instead of))

2229l : fundamental

S : &8 (way) + -S(objective marker)

OF & Z4 Z0tR : MZ2t5H(T) (to think) + -00F 5H(CH) (modal aux.(have to)) + -2 24 &
odal aux.(seems to)) + -0t (ending(declarative))
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=40 : =(eye) + 2A(in front of) + -Ofl(marker(at))

Q= A(ChH(to be) + -=(ending(relative clause; noun modifying))

=040 : Z0|(Ch)(to kill) + -0{OF(connective: have to)

OFZSIZ| : QFABHTH) (to be safe) + -Z|(ending(confirm)

ZO[A| &40 1 ZO[(C}) (to kill) + -Z| 24(C}) (modal aux.(to do not)) + -Z2(connective : and)
CEH B e EIEEI( b (to be back) + -Of(connective) + -£L(CH(to send) + -2 %
Q! (C})(modal aux.(can)) + -=(ending(relative clause; noun modifying))



: B (way) + -0|(subjective marker)

: (CH (to exist) + -A| 2(CH(modal aux.(tag question) + -27t(ending(to
) + -22(marker(polite))
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Reading & Writing
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